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M.Com. 2nd Semester

Examination, 2025

ORGANISATIONAL BEHAVIOUR
Paper-I

Time : 3 Hours] [Maximum Marks : 75

Note : This question paper is divided into two Sections i.e. ‘A’
and 'B'. Section 'A' consists of short answer type
questions, while Section 'B' consists of long answer
type questions. The weightage of Section ‘A" & 'B" will
be 30 and 45 respectively. The examinee is required to
follow the instructions given in each Section carefully.

He : e U A @ @vel el ‘@’ e ‘A’ o A
T #) @vE ‘' § ey Iuid A €, safE wve
‘g’ F < Ihg W g1 @ve ‘a’ A ‘e e
30 3R 45 3@ H B ThEd H yEE @ue
§ feu T FRWl W GEYEEE e E

FEEF &

A-135 [P.T.O.




SECTION-A S -1
(m_“) . ‘6 ‘What is resistance to Chdl’lgc ) Why do people resist Changes'l
(Short Answer Type Questions) :l e » ";“""" w1 ofedn B wm oufre @ oww %
(v Il )

Note : Attempt unyﬁw m&mu the following eigh;
ach q 6 marks. ~ (5x6=30)

b SECTION-B
L (@vz-a)

(Long Answer Type Questions)
5 (& 3T wwA)

Note : Attempt any three questions from the following five
questions. Each question carries 15 marks.

(3x15=45)
Frefafen o= yei & 9@ 5 9 w3 e
dfeu w&F T 15 sE w2

Q

Define conflict and state its various causes.

W Al W, qen s fafes @ s mEEm

). What do you understand by attitude? Discuss its factors.
T @ oMY WWEd ¥? TR wesi w1 ave witem

3 [3] [P.T.0.
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M.Com. 2nd Semester

Examination, 2025
Paper - 11
[Accounting for Managerial Decision]

Time : 3 Hours] [Maximum Marks : 75

Note : This question paper is divided into two Sections i.e. ‘A’
and 'B'. Section 'A' consists of short answer type
questions, while Section 'B' consists of long answer
type questions. The weightage of Section ‘A’ &' B' will
be 30 and 45 respectively. The examinee is required to
follow the instructions given in each Section carefully.

e : F& Y U7 o @vel HAYlg ‘e’ R ‘9 H 4@
T 2 @oe ‘A H @Y IW0E YA §, S @ue
‘F' § 4 3ulg wed ¥ @ve ‘3’ AR ‘9 HE:
30 3R 45 HH F M The ® T&E @S
¥ feu wu el &1 SEyFgE® e &
HEavETH: 2l

SECTION-A
(@us-3A)

A-1212 [P.T.O.



|-
. ,
(Short Answer Type Questions)
e (o IwdE W)
Sy -
e Note : Attempt any five questions from the following eight
' questions. Each question carries 6 marks  (5x6=30)

Gz« Frefafen ors wel ¥ @ f o o @ sw
e v v 6 s w1

4. Hari Scooter Ltd. Purchases 20.000 pieces of a part from
an outside supplier at Rs. 5 each. The management feels
that these be manufactured and not purchased. The following

_relevant information are available:

' ?iterial Cost per piece Rs. 2
¥ ialbour Cost per piece Rs. |
Variable overheads per piece 100% of labour cost

- Fixed cost per Picce Re. |

_ " You are requested to advice whether-

- A. Thecompany should continue to purchase the part from
‘ the outside supplier or should make them in the factory.
and

The company should accept an order to supply 5.000
parts to the market at a selling price of Rs. 4.50 per

unit.

% fF 3% T 9 AfE #R =i A A
Ryl T WE At gEAT ST E

i e wfd s % 2
ufa e % 1
Iufe™ wid TR F9 arE #1100 FeIE

ofa T L
[3] [P.T.O.




_‘-"  freAfofEa gEAet @ 3R wmeEd AT FO0E R

sy oy $fe fE o
(%) R W aEd i ¥ I F Wi W 10 25 000
aifeq W TR FR@H ¥ T Sy, qon [ -l 125000
" fawa 100,000
(@) ot F T «sommﬁmqug‘.fm ool o
o . sfm TR 1,17,000

5. SECTION-B
iR m E’R (@us-a)
~a pon m (Long Answer Type Questions)
(& s uv)

6. masmmnumm
necessary steps. :
qwmﬂamw%’wﬁwm@mmﬁ
fou sEvas wEdl # fFEe Fif

Attempt any three questions from the following five

questions. Each question carries 15 marks.
(3x15=45)

frfafea ofer goai & 9 fF=f @9 5o % 37
A gEF g9 15 HE F T
Discuss the essential characteristics of a good report for

- Management. Explain briefly matters that you would deal
ith while reporting to Board of Directors.

B TF =9l RO #1 e favman aaEn e
& RO # g7 oMy 59 @2 # = ¥ =
- Haw ¥ gEEmE

is meant by Analysis of Financial Statements? Explain
methods.

[ % faveoo 9 w1 omE BrIEe fane
| JUH HIfeTl

.
B

7. What is Break Even Chart? How is it prepared? ;
T T AR w82 W P9 dAR e s 82

[5]




11. The following data are taken from the records of Gautam
Ltd. as on 31st March 2024 :

Rs. Rs.
Cash in hand 30.000 Bills Payable 2,000
Debtors 15.000 Sales 50,000
Stock 10.000 Purchases 35,000
Prepaid Exp. 5.000 Purchases Return 5,000
Creditors 16.000

On the basis of above information compute Working Capital
Ratio, Acid Test Ratio, Stock Turnover Ratio, Payable
Turnover Ratio and Average Time of Payment.

frefafe s 31 o 2024 & Taw fafee % fe
¥ fow m ¥

2. %
THs T d 30000 %@ @ 2,000
e 15.000 farwt 50,000
= 10.000 F4 35,000
e = 5.000 I aTgEr 5,000
HFRR 16.000

;m@émmmﬁmm

m %m'_mhmwmm

A-1212

12. From the following data calculate Material Cost Variance,
Material Price Variance. Material Usage Variance, Materia)
Revised Usage Variance and Material Mix Variance

Standard Actual

A 60 units @ Rs.2 per unit 80 units @ Rs 3 per unit

B 40 units @ Rs.3 per unit
Total 100 units

40 units @ Rs.5 per unit

120 units

Also reconcile Actual Material Cost with Standard Material

d 60 THE W E 2 80 TFE = % 3
40 THE W E 3 40 3FE T F 5
100 TFE 120 &%

Ul @rE 9 yeY fagwm @m o e

[71] [P.T.O.



13. Deepak Ltd. requests you to compute the sales volume to-
i Break-even, ii. Make a profit of Rs. 4 per umt, . Make a
profit of 30% of sales, iv. Make a profit of Rs.30,000 p.a.,
v. Make a loss of 10% of sales. Following information is

provided :

Sales 10,000 units @ Rs.10 per unit.
Out of pocket costs Rs.5 per unit.
Burden Rs. 30,000 for 10,000 units.
Profit on 10,000 units Rs. 20,000.

v fafiee TR fawa o 9@ FH@ F AW FW
T wafr : (o) wu-fassg @, (3) & 4 WA IHE AN
B, (W) faF3s w 30 wfowm &9 &, () T 30,000
yfgad & &, (3) fawa w10 whww w1 =6

fre gu sueey w0 W R

fa®t 10000 € W T 10 WA THEI
W9 9 9 W AFE T 5 WA ITERI
qRd 10000 TEAl & faT € 30,0001
10,000 THEE W W T 20,0001

A-1212 [8]
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M.Com. 2nd Semester

Examination, 2025
INTERNATIONAL BUSINESS
Paper - Third

Time : 3 Hours] [Maximum Marks : 75

Note : This question paper is divided into two Sections i.e. 'A’
and 'B'. Section 'A' consists of short answer typc
questions, while Section 'B' consists of long answer
type questions. The weightage of Section 'A' & 'B" will
be 30 and 45 respectively. The examinee is required to

follow the instructions given in each Section carcfully.
S ;. g% e A @ @oel aigfd ‘&’ e ‘A # A
T B @Ue ‘e’ H @y I9iE ye €, Safs @
g § A IalE wee #) @ve ‘a @R ‘e’ e
30 @it 45 il @1 g wenef o yeE wUe
¥ feu o fadel 1 WEEETGEE  qEE H

HETF 2|

A-136 - [P.T.O.



SECTION-A

4. Briefly discuss any four functions of the International

(m\"? Monetary Fund.
(Short Answer Type Questions) sida g W ® PR S Ee W Afaa H T
(VY ST 9 ) EaiEed

' 5 " Discuss the implications of the European Union on world

~ trade.

Note : Attempt any five questions from the following eighs
questions. qum carries 6 marks.  (5x6=30)

wgu fam w afewfi wfew) AfeEs W HE
g TRE A A FRE w1 Seed w

Briefly discuss the Factor Endowment Theory of
International Trade.
.‘m@wmémﬁﬁrmm#&’mﬁﬁ
- Wit

~ Write short notes on any two :
Tariffs.

Quotas.

Subsidies.

[31] [P.T.O.



SECTION-B
(@ue-v)
(Long Answer Type Questions)
(drd s W)
Note : Attempt any three questions from the following five

questions. Each question carries 15 marks.
(3x15=45)

Sz fefateg oiw ve A @ R A9 w T w sw
AT TS WA 15 SR W R

9. Whydooompamesenag&lﬂiﬁﬂﬂiﬂom business'? What
are the major cultural factors that affect global business?
Give suitable illustrations in mmmf ‘your answer.
ot sl wr A F g A 2 dfew
R F A T Al FIE WGE FE P2

10. Explain Ricardo's ﬂiemyef mparati e cost advantage with

of compamhve cost advanEage?

12. "International Trade Theories exhibit the gains from trade
op e for the trading countries” Discuss this staternent and explain
how the theories of absolute advantage and comparative
advantage differ from each other.

i IR fagia st 2 # fau s @ o2e
A e W w2 3 A W oA #ifm A
gz fF Ry @9 o qees o # fagm ovw
T ¥ 5 yEn fum 37

Elaborate the need and importance of International financial
instihitions in international business.

R Hew W F= #ifau

[51]
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M.Com. Second Semester
Examination, 2025
Pap;:r—IV
[INCOME TAX]

Time : 3 Hours] [Maximum Marks : 75

SECTION-A
(@UE-37)

(Short Answer Type Questions)
(e I U9 )

Note : Attempt any 5 questions. (5%6=30)

Ae ;. Rl 5 g & I i)

1. Following are the particulars of the Income of Mr. Vinod
for the P/Y 2023-24 :

(a) Profit from business in India %1,50,000/-

(b) Profit from business in Indonesia deposited in a bank

; there, this business is controlled from India. ¥50,000/-

A-137 [P.T.0.



A-137

(©) Income from house property in Pakistan received ip

India. 220,000/-
(d) Profit from business in England received in India.
1,20,000/-

Compute the gross total Income of Mr. Vinod for the A7y
2024-25 if he is (i) Ordinarily resident, (ii) Not-ordinarily
Resident, and (iii) Non-Resident.

fa fElR ®t ™ ad 2023-2 A T fm
TR ¥

(F) YRd ¥ =UR ¥ &9 1,50,000/-

(@) TR § SR ¥ A a6 T 6§ e f
T =R 9 ¥ FEhE f 250,000/

(M WFEH § weH gEE d o, 9@ d W g
220,000/~

() $rve § SR | 9 S TRT F WG T 21 20,000/

o frR # w-fefor a6 2024-25 & fo wwa 5w

E H A FiSY, 3k aw () fEmt 2, (|
Ry feah 2, sl (%) sfEmh &1

The total income of an individual from business is ¥6,20,000
and agricultural income ¥20,000/- for the pervious year 2023-
24. Compute tax liability.

T FEE F TG 99 2023-24 ® U =OR ¥ F@RE

A 620000/~ T & AR FW T 200001~ T T F

TFE FH TUET HIfST

3 [2]

3.  Briefly explain any six items which are not included in Total
Income.
Tt B: AT F U F AUARY, A FA A9 G AF AE
Sl

4. Explain the Deduction u/s 80C.
Y/ 80C (1) =+ FHed qHzmE)

5. The total income of Mr. Anmol, resident of India is
%5,27,500/-. Calculate advance tax payable during the
financial year 2023-24 and find out instalements, if tax
deducted at source (TDS) is 8,720/-.
fa. sFm #: wmA W@ 527500/~ T ¥ faema A
2023-24 & fou sifm emger wd 23 fF= F oA
FifT AR ITW W FL F2AT 8,720/~ T E

6. Explain Rebate u/s 87A.

YR 87T % Ted H{ H ol FH THIEU

7. Write a note on 'Book Profit' in relations to the assessment
of firms.

TH % F U wE § T o | oTF e
fafam)

8. Explain Reductions u/s 16.
¥Rl 16 & Td AW Al weTd w1 TEeEul

A-137 [3] [P.T.O.



SECTION-B
( m““,)

(Long Answer Type Questions)
(e m W)

Note : Ammptnysm
A : m”ﬁﬁ:mm

(3x15=45)

31 W, 2024 F THE PR A a4 § fa A 3

fafmam frafafaa 4 -
4
) 7% T st 2.50 000/
8% T HffgTE ae 1,50 000/-
=g U2 7= avs 2 00 000/~
TqEH A 1,80 000/~
6% faseft ww=m #1 wfagfaar 1,50 000/~
& 99fz @ °§ = s fEE 30 .000/-

WA G A WEE F AE FHOTOE FE0)

i Raj Kumar is an employee of a company in Mumbai.

following information is available about his income

ing the previous year ended 31st March, 2024.

Monthly salary ¥40,000/-.

FA_‘ ) Commission ?1 ,25,000/-.

(c) House rent allowance for the full year ¥1.80.000/-.
- Actural rent paid by him for the year (accommodation

aken in Mumbai) ¥2,00,000/-.

[5] [P.T.0.



(@ The term and conditions on his employment wey,

(C]

modified during the year partly (o his disadvantage ang
for that the employer paid him a compensatio,
4,00,000/-.

He has been provided with a large motar car partly fo,
office work and partly for his personal use. All expenges
including driver's salary, maintance and petrol charges
were brone by the employer.

He has let out his house property in Hyderabad for
momeioﬁ muhwm 1t remained

(m A # fAu wEE fETm am 20 80 000/~ FAE
B T A A qEe T fern (vEm qead G fam
T R 2200 000/

T T T R #1 o o ofrads % werae
@ m Aty = w24 00 000/~

3% UF AL FN T Gfed FOR A 4w 9 wrA
g, foma wom om Forh gEA % odn wwm owm
ITM FYE: FAE vE FvE: et T g oz
2l

FTF U FERE § UF mEE wei 2, 5 26000/
ufa e A W faw 21 e wwfa 6 9w # fem
fFd W A E % U YW 6 AE W T ozH
wofa W 7AEA FF FTH 27500/~ 41 THEAT
+ g GFME T

_.(E)ﬁ#maéﬁm.ﬂm.aﬁmm$mﬁ

397,500/~ M)

. (9) A TIEAR 3 230000/~ HEA wrE afam
. TW A WA fRU R aT 33 @ w1 ShEs

- O S 142013 F o o W of mwom A F
26000/~ AMY* WiEge = &9 § w91 fFu)

i SR B A TS A S A 2024-25

oA HR AE W FE T FI

[7] [P.T.O.



A-137

11. Write short notes on the following :

(a) Fully tax free allowances.

(®) Annual value.

(©) Alternative Tax Regime.
frefea ® ofvw fowfml fafec :

(¥) T = gR W
(@) aft® =
() Iefaw I

The total income of a firm XYZ in which X, Y and Z, the
partners share profits and losses in the ratio of 1 : 2 : 3 was
as per P & L A/c “1,31,800/- for the previous year 2023-24.
In computing the total income of *1,31,800/-, ﬂxefollowmg
have been debited to P&L Alc :

Salaries of ¥1,30,000/- and ¥1,20,000/- to X and Y
respectively.

Interest and capital calculated @20% of ¥3,500/-,
14,000/~ and 10,500/ to X, Y and Z respectively.

Bonus to Z 315,000/-.

Commission of ¥5,000/-, ¥12,500/- and ¥17,500/- to X, Y
and Z respectively.

Z had borrowed capital for his investment in the firm and

has paid interest of ¥7500/- separately to the lender.

Compute the total income of the firm and taxable income of
the three partners in the firm. All the partners are working
partners. The frim fulfills the conditions of Sec. 184.

[8l]

1.

m a4 2023-24 & fau Xyyz W, o wmm Xy
amZ.l:2:33§3ﬁqmﬁwnqmm%'?mu
wft @R F STER KA AT 131800 7 B |31 500/
3. 1 H/A A F A FA G et 7o oy
uﬁﬁéﬁzwﬁmw%:

X @ Y ® FWR: 130000/~ FAD 120000/~ F F
EnEll

20% F W W TS W =S K OWE F T

X, Y @ Z ® HEA: 3500/~ F, 14000/~ F AQ
10,500/~ & = fean

Z & @ 15000/~ &

X, Y @ Z ® FAA: 5000/~ %, 12500/~ F A

17,500/~ & heed o

X, Y @ 24 wd ° fafEm ww # fom 6 sem A
qo STer ¥ KR H 7,500/~ T FS THAI

wd F HA AE F A B T FH F A AT
F} I AE T FAC o WP EA TEER F T
U 184 F Y@ T F

Explain the following :
(a) Assessment of Hindu undivided family.
(b) Carry-forward and set-off losses.

(c) Provident funds.

[91 [p.T.O.
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M.Com. 2nd Semester

Examination, 2025

Paper-V(A)

[Entrepreneurship and Small Business]

Time : 3 Hours] [Maximum Marks : 75

Note :

A-138

This question paper is divided into two Sections i.e. ‘A’
and 'B'. Section 'A' consists of short answer type
questions, while Section 'B' consists of long answer
type questions. The weightage of Section 'A' & B will
be 30 and 45 respectively. The examinee is required to
follow the instructions given in each Section carefully.

7% YA U9 d @UEl Agi ‘@' @R ‘9 °
T #1 @vE ‘A | oY I w8, afe a@ve
‘g’ § 4 39ia v 7 @ue ‘3 e ‘e’ wa
30 3 45 3H w1 BN A B ySE @
4 feu wu fdeil &1 w@EYHgE® GeE SO
EavTH: 2l

[P.T.O.



tate the role of entrepreneur as an involvator.

® w9 0 Iu@ w g wemm)

at is Max Weber Theory of Entrepreneurship?
w1 YFg-qw faEem = 22

main characteristics of small industries.

SECTION-B
(@us-9)

(Long Answer Type Questions)
(&d 3w uww)

Attempt any rhree questions from the following five
questions. Each question carries 15 marks.
(3x15=45)

fFrefafe afer ue § 9 =t 99 wod ® I
AT q&F T 15 H w2

hat is mean by Entreprencur? Discuss his characteristics
| importance.

it ¥ T o™ ¥ SEE faewaet W wes w1
it

[3] [P.T.O.



10.

11.

12.

13.

What is meant by External Environment Analysis? Explain
11 brief the factors affecting external environmental analysis.
a AT favemm § w1 SRE €7 SR TR
Fgamor 1 gUfEd W 9 Yg@ TeH H GEHY H U
Hifery|

What are the problems of small scale industries? How can
small scale industry be helpful in removing unemployment?

T § T AR A # P o wEeE €7 @Y
T R R § FE O e @ §Hd ¢

Explain the meaning of innovation and entrepreneur. What
is the relationship between the two? Explain.

TEER G IUE T Y daRUl g SH % He F
T g7 T it

What is meant by Promotion of venture? Explain irtgri’ef
characteristics of promotion.

3TH H VEGT § F ANE 82 FAAd $ 0N FT Haw
H gl wifam)

A-138 [4]
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M.Com. (IInd Semester)

Examination, 2025
INTRODUCTION TO ACCOUNTING

Time : 3 Hours) [Maximum Marks : 35

Note : The question paper is divided into two Sections i.e. A,
and B. Section A consists of short answer type questions,
while Section B consists of Long answer type questions.
The weightage of Section A & B will be 20 and 15

respectively. The examinee is required to follow the
instructions given in each Section carefully.

ME : YA 9 @ @vel ' an a’ § fava 3 ave
‘@’ 4 =9 39ty gufed ¥ wafs @vz ‘9
4 4 9l y wufea #) @ve ‘aw’ s ‘a
WHY: 20 3R 15 FH F EOM Ghered q e
t fs vorw @ve  fay mu il @ aEaEgds
e wi

SECTION-A
(@UE-31)

(Short Answer Type Questions)
(eg I9a wvA)

A-1032 [P.T.O.

4\
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Attempt any five questions from the following eigpy,

Note :
questions. All questions carry equal marks. Eac
question carries 4 Marks. (5x4=20)

. Frefefaa oms e o @ 5 e w @ oy

AfFw wAF T 4 B H R

List the main objectives of accounting.

1.

SEFT ® YOI Sevd & gEEs i)

2. _ What is Depreciation? Write its types.

FE ¥ e R W fafEu

3. What is Bank Reconciliation Statement? Explain its
importance. 3
IF TYE faEm w7 T Wew # mwmm

4. Define Profit and Loss Account and explain its importance,
w9-Tf @@ # uRaw dfee ok TR wew &y
REEIS

5. List the stages of Accounting Cycle.
. TEE 9% % =90l Fwas)

6. What do you understand by the Accounting Standards issued
by ICAI (Institute of Chartered Accountants of India)?
FEMTAE. U W H@HA WEE W AN wHeR
LIE

A1032 e Y

22

Why is it necessary to follow Accounting Standards?
Explain the Accounting Equation with an example.

T THE R IR Al o)

SECTION-B
(@us-a)

(Long Answer Type Questions)
(& =g www)

Note : Attempt any three questions from the following five

questions. Each question carries 5 marks.
(3x5=15)

die ;. Fefafes uie o § 9 R d9 owe ® e

9.

A-1032 131

U wdE w5 3HH F 2

Give examples of the following Adjustment Entries :
Prepaid Expenses
Outstanding Expenses
Accrued Income
frefafed gamEem sfafear w1 ssem <
Tefed =4
IS =
sfsia =

[P.T.0.



_ difference between a Receipts & Paymep,
10. What is :‘:d aa Income & Expenditure Account? '

m«wmﬂ&m“mmﬂ““ﬂr

14
= Account for a Non-Profi
Receipts & Payments A
31,2024 : .
Membership Fees Recei

23

A fmim =17 2 60,000
Ryl 7 210,000
Be TR A Z 30,000
qF 9 Z 50,000

FHEAT :

g e B 5000 A aEA 7

§ 5 3000 @UE TR T IHE @@ @ fEm
|

m the following information, prepare the Trading

A ccount, Profit & Loss Account, and an adjusted Balance
eet for a sole proprietorship business.

Trial Balance as on March 31, 2024

Opening Stock % 50,000
% 1,50,000
% 2,50,000
“ Z 30,000
- Rent: < 10,000
Liabilities : % 25,000
Capital : < 2,00,000
~ Bank Balance : < 35,000
 Adjustments:
~ Closing Stock is ¥ 40,000.

000 of salary is still outstanding.
Z 2,000 from rent is prepaid for a future period.

[51 [P.T.O.
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